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2. OMR

3.

4.

mÙkj ”khV ij fpfUgr djus gSaA iz”u&i= esa vkids dPps dk;Z 
ds fy, LFkku fn;k x;k gSA dPps dk;Z ds fy, dksbZ vfrfjDr “khV 
ugha nh tk;sxhA
fdlh Hkh :Ik esa [kkyh dkxt] fDyi cksMZ] ykWx Vscy] LykbM :y] 
dsydqysVj] eksckby Qksu] istj o fdlh Hkh izdkj dh vU; 
bysDVªkWfud ;qfDr dh vuqefr ugha gSA

fyf[k;sA 

(1)



(2)

For rough work dPps dk;Z ds fy,

KELVIN KET - Class-IX

1. Which of the following can not be the unit of work?

(1) Kilojule (2) Newton meter

(3) Kilowatt (4) Kilowatt hour

2. A cube of mass M and side length L floats half submerged
in a liquid. The density of the liquid is

(1) 3

M
L

(2) 32
M
L

(3) 3

2M
L

(4) 3

4M
L

3. An object moves around a circular track of radius 10 m
with speed  m/s. The displacement in 10 s is

(1) 10 m (2)  m

(3) 20 m (4) 2 m

4. A boy of mass 50 kg runs up a staircase of 45 steps in
9s. If the height of each step is 15 cm. Find his power.

(1) 266 W (2) 375 W

(3) 523 W (4) 60 W

5. A ball of mass 2 kg is kept on a smooth horizontal
surface. When a force of magnitude 10 N is continuously
applied on it horizontally, the distance travelled by he
ball is 20 m. Find the time elapsed.

(1) 2 s (2) 2 2 s

(3) 4 s (4) 1 s

6. Canal Rays were discovered by

(1) J. Chadwick (2) Goldstein

(3) Einstein (4) J.J. Thomson

7. On decreasing pressure solid CO2 changes to

(1) Liquid (2) Gas

(3) Steam (4) Crystal

8. Plum pudding model was proposed by

(1) Bohr (2) Rutherford

(3) Dalton (4) Thomson

1. fuEu esa ls dkSulk dk;Z dk ek=d ugha gks ldrk gS\
(1) fdykstwy (2) U;wVu ehVj
(3) fdyksokV (4) fdyksokV ?k.Vk

2. M nzO;eku o L Òqtk yEckbZ dk ,d ?ku nzo esa vk/kk
Mwck gqvk rSjrk gSA nzo dk ?kuRo gS

(1) 3

M
L

(2) 32
M
L

(3) 3

2M
L

(4) 3

4M
L

3. ,d oLrq  m/s pky ls 10 m f=T;k ds o`Ùkh; iFk ds
pkjksa vksj xfr djrh gSA 10 s esa foLFkkiu gS
(1) 10 m (2)  m
(3) 20 m (4) 2 m

4. 50 kg nzO;eku dk ,d yM+dk 9 s esa 45 LVsi dh lh<+h
esa Åij dh vksj nkSM+rk gSA ;fn çR;sd LVsi dh Å¡pkbZ
15 cm gS] rks mldh 'kfDr Kkr dhft,
(1) 266 W (2) 375 W
(3) 523 W (4) 60 W

5. 2 kg nzO;eku dh ,d xsan dks fpduh {kSfrt lrg ij
j[kk tkrk gSA tc bl ij 10 N ifjek.k dk cy
{kSfrt :i ls fujUrj vkjksfir fd;k tkrk gS] rc xsan
}kjk r; dh xbZ nwjh 20 m  gSA O;rhr le; Kkr
dhft;sA

(1) 2 s (2) 2 2 s

(3) 4 s (4) 1 s
6. dsuky fdj.kksa dh [kkst fdlus dh Fkh\

(1) ts- pSMfod (2) xksYMLVhu
(3) vkbULVhu (4) ts- ts- FkkWelu

7. nkc ?kVkus ij Bksl CO2 fdlesa ifjoÆrr gks tkrh gS
(1) nzo (2) xSl
(3) Òki (4) fØLVy

8. Iye iqfMax ekWMy fdlus fn;k Fkk\
(1) cksgj (2) jnjQksMZ
(3) MkYVu (4) FkkWelu

SECTION ¼[k.M½-I
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9. Drugs from blood are separated by

(1) Sublimation (2) Evaporation

(3) Chromatography (4) Distillation

10. On the basis of which of the following  properties gases
are easily filled in cylinders?

(1) Fluidity (2) Rigidity

(3) Compressibility (4) Sublimation

11. CFCs  cause depletion of

(1) NO (2) CO

(3) O3 (4) HCN

12. Find out the mismatch

(1) Jersey –Exotic breed

(2) Red Sindhi –Local breed

(3) Leghorn – Indigenous breed

(4) Brown swiss – Foreign breed

13. Group of the kingdom 'plantae' that bears naked seeds
is/are

(1) Pteridophyta (2) Gymnosperms

(3) Angiosperm (4) Bryophyta

14. Which of the following is incorrect?

(1) All cells look alike in structure

(2) Shape of amoeba is variable

(3) All cells look alike in terms of shape and size

(4) Cells in different parts of the human body
perform different functions

15. RER differs from SER in having

(1) Mitochondria (2) Ribosomes

(3) Small vacuoles (4) Lysosomes
16. (x + y)3 – (x – y)3 – 6y (x2 – y2)

(1) 6y3 (2) 4y3

(3) 8y3 (4) 10y3

9. jDr ls vkS"kf/k;ksa dks fdlds }kjk i`Fkd fd;k tkrk gS\

(1) Å/oZikru (2) ok"ihdj.k

(3) o.kZysf[kdh (4) vklou

10. fuEu esa ls fdl xq.k ds vk/kkj ij xSlksa dks flys.Mjksa
esa vklkuh ls Òjk tk ldrk gS\

(1) rjyrk (2) n`<+rk

(3) lEihM~;rk (4) ÅèoZikru

11. CFCs ds dkj.k fdldk {k; gksrk gS\
(1) NO (2) CO
(3) O3 (4) HCN

12. vlqesfyr dks igpkfu,

(1) tlhZ –fons'kh uLy

(2) jsM fla/kh–ns'kh uLy

(3) ySxgkWuZ – Lons'kh uLy

(4) czkmu fLol – fons'kh uLy

13. txr ^IykUVh* dk og lewg ftlesa uXu cht gksrs gSa]
og gS

(1) VsfjMksQkbVk (2) vuko`rchth

(3) vko`rchth (4) czk;ksQkbVk

14. fuEu esa ls dkSulk xyr gS\

(1) lHkh dksf'kdk;sa lajpuk esa leku gksrh gS

(2) vehck dh vkÑfr ifjorZu'khy gksrh gS

(3) lÒh dksf'kdk;sa vkÑfr vkSj vkdkj esa leku
gksrh gS

(4) ekuo 'kjhj ds fofHkUu Òkxksa dh dksf'kdk;sa fHkUu
fHkUu dk;Z lEiUu djrh gS

15. RER fdldh mifLFkfr ds dkj.k SER ls fÒUu gS\

(1) ekbVksdkWf.Mª;k (2) jkbckslkse

(3) NksVh fjfDrdk (4) ykblkslkse
16. (x + y)3 – (x – y)3 – 6y (x2 – y2)

(1) 6y3 (2) 4y3

(3) 8y3 (4) 10y3
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17. cos 60° cos 30° – sin 60° sin 30°

(1) 1 (2) 0

(3)  (4) 2

18. A chord AB of a circle of radius 10 cm subtends a right
angle at the centre. Find the area of the major segment.
(Take  = 3.14)

(1) 285.5 cm2 (2) 375.6 cm2

(3) 125.5 cm2 (4) 265.9 cm2

19. Which of the following is not correct?

(1) All right angles are equal to one another

(2) A circle can be drawn with any centre and any
radius

(3) A terminated line can be produced indefinitely

(4) Two unique lines can be drawn from one point to
any other point

20. In the given figure, AB||DC, P and O are the  mid-points
of AD and BD respectively and POQ is a straight line.
If BD = 20 cm, BC = 12 cm, then the length of OQ is

A B

C

Q
O

P

D

(1) 8 cm (2) 16 cm

(3) 13 cm (4) 12 cm

21. Two circles with centres P and Q having different radii
intersect each others. SR is a common chord which
passes through the intersecting point of the two circles.
If SR||PQ and PQ = 17 cm, then the length of SR is

(1) 21 cm

(2) 34 cm
R

QP

S O

(3) 25.5 cm

(4) 51 cm

17. cos 60° cos 30° – sin 60° sin 30°

(1) 1 (2) 0

(3)  (4) 2

18. 10 cm f=T;k ds ,d o`Ùk dh thokAB dsUnz ij ledks.k
fuÆer djrh gSA nh?kZ[k.M dk {ks=Qy Kkr dhft, (
= 3.14 yhft,)

(1) 285.5 cm2 (2) 375.6 cm2

(3) 125.5 cm2 (4) 265.9 cm2

19. fuEu esa ls dkSulk lgh ugha gS\

(1) lÒh ledks.k ,d nwljs ds cjkcj gksrs gSa

(2) ,d o`Ùk dks fdlh Òh dsUnz rFkk fdlh Òh f=T;k
ls [khapk tk ldrk gS

(3) ,d lhekUr js[kk vuUr rd c<+kbZ tk ldrh gS

(4) nks vf}rh; js[kk,sa ,d fcUnq ls fdlh nwljs fcUnq
rd [khaph tk ldrh gSa

20. fn, x, fp= esa AB||DC, P o O Øe'k% AD ,oa BD ds
eè;&fcUnq gSa rFkk POQ ,d ljy js[kk gSA ;fn
BD = 20 cm, BC = 12 cm gS] rc OQ dh yEckbZ gS

A B

C

Q
O

P

D

(1) 8 cm (2) 16 cm

(3) 13 cm (4) 12 cm

21. P o Q dsUnzksa rFkk fHkUu f=T;kvksa okys nks o`Ùk ,d nwljs
dks çfrPNsfnr djrs gSaA SR ,d mHk;fu"B thok gS tks
nksuksa o``Ùkksa ds çfrPNsnh fcUnq ls xqtjrh gSA ;fn
SR||PQ rFkk PQ = 17 cm ] rc SR dh yEckbZ gS

(1) 21 cm

(2) 34 cm
R

QP

S O

(3) 25.5 cm

(4) 51 cm
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22. In a election between two candidates A and B, A got
60% of the total valid votes. If 15% of the total 5,00000
votes were declared invalid, find the number of valid
votes polled in favour of the candidate B.

(1) 17,0000 (2) 18,0000

(3) 25,0000 (4) 20,0000

23. In the given ABC, BQ and CP are the angle
bisectors of B and C respectively. If CAD = 100°,
then the measure of QOC is

O Q

C

P

A

D

100°

B

(1) 40° (2) 50°

(3) 80° (4) 60°

24. In figure, side QR of PQR has been produced to S. If
P : Q : R = 3 : 2 : 1 and RT PR, find TRS.

P

Q R

T

S

(1) 60° (2) 50°

(3) 70° (4) 80°

25. A  shopkeeper sells an article at a loss of 
112
2

%. Had

he sold the article for Rs. 51.80 more. He would have
earned a profit of 6%. Determine the CP of the article.

(1) Rs. 380 (2) Rs. 280

(3) Rs. 440 (4) Rs. 505

22. nks çR;kf'k;kas A o B d s eè; pquko esa A dks dyq  ekU;
oksVksa ds 60% oksV feysA ;fn dqy 5,00000 oksVkas ds
15% oksV vekU; ?kksf"kr dj fn, x,] rc çR;k'kh
B ds i{k esa Mkys x, ekU; oksVksa dh la[;k Kkr
dhft,
(1) 17,0000 (2) 18,0000
(3) 25,0000 (4) 20,0000

23. fn, x, ABC e]as BQrFkkCP Øe'k%B rFkkC ds dks.k
v)Zd gSaA ;fn CAD = 100° rcQOC dh eki gS

O Q

C

P

A

D

100°

B
(1) 40° (2) 50°
(3) 80° (4) 60°

24. fp= esa PQR dh Hkqtk QR dks S rd c<+k;k tkrk gSA
;fnP : Q : R = 3 : 2 : 1 rFkk RTPR, rc TRS
Kkr dhft,A

P

Q R

T

S
(1) 60° (2) 50°
(3) 70° (4) 80°

25. ,d nqdkunkj ,d oLrq dks 112
2

% dh gkfu ls csprk

gSA ;fn og bl oLrq  dks 51.80 :i;s vf/kd ysdj
csprk gSA rks mls 6% dk ykÒ gksrk gSA oLrq dk Ø;
ewY; Kkr dhft;sA

(1) : 380 (2) : 280

(3) : 440 (4) : 505
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26. yqIr la[;k Kkr dhft,

483

4

8 ?5

2

7

(1) 27 (2) 64
(3) 54 (4) 35

27. yqIr la[;k Kkr dhft, % 2, 6, 14, 30, 62, ?, 254
(1) 126 (2) 124
(3) 132 (4) 142

28. ç'u vkd`fr;k¡ %

: : : : ?

mÙkj vkd`fr;k¡ %

(1) (2)

(3) (4)

29. nh xbZ vkd`fr esa fdrus f=dks.k gSa\

(1) 10 (2) 6
(3) 8 (4) 9

30. uhps nh xbZ vkÑfr;ksa esa ls dkSu fcYyh] pwgk vkSj
tUrq ds laca/k dks n'kkZrk gS\

(1) (2)

(3) (4)

31. yqIr la[;k Kkr dhft,
2, 6, 12, 20, 30, 42, ?
(1) 56 (2) 44
(3) 64 (4) 60

26. Find out the missing number

483

4

8 ?5

2

7

(1) 27 (2) 64
(3) 54 (4) 35

27. Find out the missing number : 2, 6, 14, 30, 62, ?, 254
(1) 126 (2) 124
(3) 132 (4) 142

28. Question Figures%

: : : : ?

Answere Figures:

(1) (2)

(3) (4)

29. How many are triangle in the given figure ?

(1) 10 (2) 6
(3) 8 (4) 9

30. Which of the following represent the releationship
among cat, rat and animal in the given figure?

(1) (2)

(3) (4)

31. Find out the missing number
2, 6, 12, 20, 30, 42, ?
(1) 56 (2) 44
(3) 64 (4) 60

SECTION ¼[k.M½-II
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32. ;fn '+' dk rkRi;Z gS '×', '–' dk rkRi;Z '+', '×' dk rkRi;Z
gS '÷' vkSj '÷' dk rkRi;Z '–' gS rks 6 – 9 + 8 × 3 ÷ 20 = ?
(1) 6 (2) 10
(3) –2 (4) 12

33. yqIr la[;k Kkr dhft,

6 
388 5
2

4
?12 13
3

5
1810 8
4

(1) 9 (2) 11
(3) 17 (4) 24

34. lgh fodYi dk p;u dhft;s
ysDVksehVj % nwèk % % FkekZehVj % \
(1) Å"ek (2) rkieku
(3) jDr nkc (4) vknzZrk

35. yqIr in Kkr dhft, %
ZXV : WUS : : MKI : ?
(1) ONL (2) OMK
(3) VUS (4) UWY

36. ;fn 'FIGHTER' dks 'ILJKWHU' fy[kk tkrk gS rks
'DANCER' dks fy[kk tk;sxk
(1) HERGIV (2) EBODFS
(3) FCPEGT (4) GDQFHU

37. ;fn 4×3 = 19 rFkk 6×5 = 41 gks rks 5×7 = ?
(1) 56 (2) 48
(3) 47 (4) 43

38. niZ.k esa cus 8 : 45 cts dk lgh le; fdruk gksxk\
(1) 3 : 45 (2) 3 : 15
(3) 2 : 15 (4) 2 : 45

39. fHkUu lewg Kkr dhft,
(1) WXZ (2) ABE
(3) EFI (4) IJM

40. yqIr la[;k Kkr dhft,

169
1

3
7 2 121

1

3
5 2 ?

1

5
6 4

(1) 256 (2) 250
(3) 246 (4) 196

32. If '+' mean '×', '–' mean '+', '×' mean '÷' and '÷' mean is
'–', then 6 – 9 + 8 × 3 ÷ 20 = ?
(1) 6 (2) 10
(3) –2 (4) 12

33. Find out the missing number

6 
388 5
2

4
?12 13
3

5
1810 8
4

(1) 9 (2) 11
(3) 17 (4) 24

34. Choose the correct option
Lectometer : Milk : : Thermometer : ?
(1) Heat (2) Temperature
(3) Blood pressure (4) Humidity

35. Find out the missing term :
ZXV : WUS : : MKI : ?
(1) ONL (2) OMK
(3) VUS (4) UWY

36. If 'FIGHTER' is written as 'ILJKWHU' then 'DANCER'
will be written as
(1) HERGIV (2) EBODFS
(3) FCPEGT (4) GDQFHU

37. If 4×3 = 19 and 6×5 = 41 then 5×7 = ?
(1) 56 (2) 48
(3) 47 (4) 43

38. If time in the mirror shows 8 : 45 then what is real
time?
(1) 3 : 45 (2) 3 : 15
(3) 2 : 15 (4) 2 : 45

39. Find out the odd one
(1) WXZ (2) ABE
(3) EFI (4) IJM

40. Find out the missing number

169
1

3
7 2 121

1

3
5 2 ?

1

5
6 4

(1) 256 (2) 250
(3) 246 (4) 196


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